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[ 55kgik ]
No. E % 5 % ATy F )= &Tw—Y R ;I\—’SI)I/ Ei
1 2 3 1 2 3 S |ief:|@s|ced|Etr| ga]| 8k |NE]|=F
1 i gy |ERs| 86 88 91x | 105x 105 | 107x |88| 2| 7105 4| 5] 193 | 3]12
2| fEk BEX | =k | 85x 85 87 102x | 102x | 102x |87] 3| 6] 0O 0 6
3| HH KFE | R 40 (%) - 45 (%) — J40| 8| 145 7| 2] 8 |7]3
4| A0 F/KX | EE | 90x 90 92 108 | 113x 17 92| 18 |117[ 2| 7] 209 | 1]15
5| &g BwF | hiE 80 86 % 86 % 111 116 118 |80| 5| 4118 1| 8] 198 | 2]12
6| BE EZE | BEX 70 72 77 % 85 90 101x |72 7| 2]9]| 5| 4] 162 |5]6
7| Bm RE | X% 81 86 88 x 100 102 106 |86 4| 5 |106f 3| 6| 192 [ 4]11
8| EF WK | B 65 71 76 80 % 80 86x |76 6| 3|80 6|3 156 |6]6
[ 61keifk ]
wl & 2 |e 2 RFYF )= &S — R ;b—/sub ﬁi
1 2 3 1 2 3 S |ietr|ma|cad| | ga| L8k |MEt|FE
1] AT 4Rt | 5 | 100CR | 104CR | 108x 122 127 | 131x |104| 2 | 7 |127) 1| 8 | 231CR| 2 | 15
2| A7 #nE | E& 96 101CR | 105x | 115x% 115 118 |101) 3| 6 |118f 4| 5| 219 [ 3|11
3| iy BX |ERE| 104CR | 109CR | 113x% 121 123 | 128x 109 1 | 8 |123] 2| 7 | 232CR| 1 |15
4 ® B i | 93x 93 x 93 120x | 120x% 120 | 93| 4| 5120 3| 6| 213 | 4]11
5| 2 &N | B 80 85 x 87x | 105x 105 111 Jso| 8| 11172 191 | 7]3
6| =i B x5 83 86 90 110 112 | 119x |oo| 5| 4 |112] 6 | 3] 202 | 5] 7
7| WA =B | & 85 87 91x | 115x% 115 | 119x |87| 6 | 3 |115/ 5| 4] 202 | 6] 7
8 B OEX HE 70 81 84 % 85 93 % 93 81| 7| 2]93|8| 1| 174 |8]3
[ 67ke#k )

AFYF D=2 &Tv—7 RRb I PR
of & & IR 2 1 2 3 1 2 3 S |mtr|ex]cad|imt|ma| 8% [mu|PE
1 KA & BEA 75 80 83 x 90 95 100 |80 8| 1100l 8| 1] 180 |[8]?2
2| = &sXx | wE& | 100 104 108 120 128 133 108/ 2| 7133 3| 6] 241 | 2]13
3| BB KH | X9 100 103 | 106x 123 126 | 129x |103| 5| 4 |126] 4 | 5] 229 | 5] 9
4| BE BFE |EBRS| 107X 107 109 132 135 | 143x |109| 1 | 8 ]135] 1| 8| 244 | 1]16
5 | Bk BER| £& 90 95 101 x 105 | 110% 110 95| 7| 2110l 7| 2] 205 [7]4
6| +&2 mE | EF 101 104 106 126 130 134 |106| 3| 6 |134| 2| 7] 240 | 3]13
7| FB BE | =2 98 101 105 121 125 | 127x |105| 4 | 5 |125/ 6 | 3] 230 | 4] 8
8 |’&¥# IE—E8| Ri& 96 100 102 120 122 126 |102| 6 | 3 |126| 5| 4] 228 | 6| 7
[ 73kg#% ]

AFYF D=2 &Tv—7 R N d [ PEy
of & & R & 2 3 1 2 3 | s [ex|es|cadmm]ms| Zo [me|®
1Sk EXM|ERS| 90 92 101 x 91 131x | 183x |92 7| 2ot 7| 2] 183 |74
2| WO E=xE | BES 100 107 109 130 132 134 |109] 5| 4 |134| 5| 4| 243 | 6] 8
3| BFE F=EE | X 85 91 93 90 (&) — Jot| 8| 1]oofs| 1] 18 |8]2
4| mHE wE | BFE 111 116 | 122cR| 140 146 | 152x |122| 2 | 7 |146] 4 | 5] 268 | 3]12
5| &8 kA | &% | 1200S | 123CR | 130CR | 150CS | 155CR | 165CR [130| 1 | 8 165 1 | 8 | 295CR| 1 | 16
6| 28 H | & | 115 | 121x | 121CR| 145 | 151CR | 156x |121| 3 | 6 151 2| 7| 272 | 2 |13
7| B BL | X | 110 112 | 117x 130 133 | 135x |112| 4 | 5|133/ 6 | 3| 245 | 5] 8
s| WE BK| =% | 106 | 108x 108 137 141 147 108/ 6 | 3 |147| 3 [ 6| 255 | 4] 9




[ 81kegifk ]

No. E % 5 % ATy F )= &Tw—Y R ;I\—’SI)I/ Ei
1 2 3 1 2 3 S |iEtr|malcsd| Bt |ga] B8R |Ee]=F
1| BB AR | Ko | 120x% 120 | 131CR| 150 167 | 160CS |131| 4 | 5 |160[ 3 | 6 ] 291 | 3|11
2| A F =% | 1£% | 140CR | 147x | 154x | 152 159 | 161CR |140| 2 [ 7 |161] 2 | 7 | 301CR| 2 | 14
3|lzg/m %= =5 | 100 111 115 120 132 137 |115| 5| 4 137 6 | 3| 252 | 5] 7
4| & 282 | ##48 | 135CR | 141CR | 148CR | 170CR | 180CR | 190x |148| 1 | 8 J180| 1 | 8 | 328CR| 1 | 16
5| BE EE | & 105 | 112x 112 122 133 138 112/ 6 | 3 |138| 5 | 4| 250 [ 6] 7
6| FI& = | REX 80 95x | 101x | 100 110 1210 80| 7| 2121 7| 2| 201 | 7|4
7|1 wo #Fxx | B | 130x [ 130CS | 132CR| 151 | 158x | 158x |132| 3 | 6 |151| 4 | 5 | 283CS| 4 | 11
8| WF FH |EBES| 55 60 65 X 75 80 85x 60| 8| 1|80 8| 1] 140 |8]2
[ 89kgik ]
o £ 4 B AT )= &S w—Y NI =I\—’51)l/ fzi
1 2 3 1 2 3 S |ietr|ma|cad| | ga| L8k |MEt|FE
1]=zgs o] =i | 113x | 113 | 117x 136 141 143 113 2| 7 |143] 1| 8] 256 | 2 |15
2|l B = | @ | 105 | 111x | 112x | 135 141 | 144x |105| 7 | 2 |141) 3| 6| 246 | 3]s
3| me B | EE | 100 107 110 | 115x | 115 122 |110| 5| 4 J122[ 8| 1] 232 | 8] 5
4 |AHME K#s| Ko 110 113 118 130 136 142 |118| 1| 8 |142[ 2| 7] 260 | 1]15
51 @ % | E& | 101 106 108 120 131 137 |108| 6 | 3 |137| 4 | 5| 245 | 5] 8
6| AKX XE | &EF 96 101 x 101 123 132 135 |101) 8 | 1 |135| 5 [ 4| 236 | 7] 5
7| T Mi— | e | 100 106 112 | 121x | 121 132 |112| 3| 6 132 7| 2| 244 | 6] 8
s | i wx |ERe] 106 109 111 125 132 134 |111| 4 | 5 |134| 6 | 3| 245 | 4] 8
[96ke#k ]

AFYF D=2 &Tv—7 RRb I PR
of & & IR 2 1 2 3 1 2 3 S |mtr|ex]cad|imt|ma| 8% [mu|PE
1| KIS FEXER| REAR 70 80 83 90 100 110 |83| 6| 3110/ 6| 3| 193 [6]6
2| BRE m— | &F 115 121 125 155 162 | 164x |125] 4 | 5 |162| 3| 6| 287 | 3|11
3l k= A g | 122 126 | 128x | 135 150 | 157x |126| 3 | 6 |150] 5| 4| 276 | 5] 10
41 A0 H#E | RiE 50 71 81x 70 () — |71 72070 7| 2] 141 |7]4
5| TR =88 |ERS| 130 140 ) 165 | 171x 171 1400 1| s 171 1 [ 8] 311 | 1]186
6| £F ®= | x| 120 123 [ 127x | 156 | 161x | 161x |123| 5| 4 |156] 4 [ 5] 279 | 4] 9
7| EFH & =i | 120 124 127 160 163 170 |127| 2 | 7170 2| 7| 297 | 2 |14
[ 109ke#k ]

AFYF D=2 &Tv—7 R N d [ PEy
o) K & R & 2 3 1 2 3 | s [ex|es|cadme]as| Zo& [me|®
] KR A | M | 106 | 122x | 122 135 | 145%x | 146 |122| 4 | 5 |146| 3| 6| 268 | 4|11
2| EE ® REAR 80 86 92 100 112 120 92| 6| 3120 5| 4] 212 | 6] 7
3| mE # Ko | 127x% 127 | 129% 150 | 168x | 171CR 127 3 | 6 |171] 1 [ 8] 298 | 2|14
4| BEO 2 |ER 40 €D} — 50 55 60 |40 8| 1]60| 8| 1] 100 [8]2
5| BB — | 4@ | 130 | 140x | 140 | 161CS | 170CR | 180x |140| 1 | 8 J170| 2 | 7 | 310CR| 1 | 15
6| =M E& | B&E | 121 123 128 136 | 145x | 145 128 2| 7 |145| 4 | 5] 273 | 3|12
7| %kEB B8 | =l 95 100 105 111 113 115 105/ 5| 4 |115/ 6 | 3| 220 [ 5] 7
8| BE RE | &5 75 80 85 90 100 | 110x |85| 7| 2100l 7| 2| 185 | 7| 4




[+109Kgik]

ATyF

P)—2 &S —4

b—5JL

B AT aa
No. - R
0 k& B4 1 2 3 1 2 3 S |ien:|ae|cad|im|ma| 8% [mu]?E
1| NB B | B 121 129%x [ 129x | 151 161 163x [121| 4 [ 5 |161] 4| 5] 282 | 4]10
2| G EER & 80 90 95 x 111 113 | 121x Joo| 8| 1 ]113] 8| 1| 203 | 8|2
3| MR BB | e 127 | 132x 132 160 | 168x 168 132 2| 7 |168| 2 | 7] 300 [ 2]14
4| A —= |Eese]| 9ox 90 96 110 112 120 96| 7| 2120 7| 2| 216 [ 7] 4
51 mE = | =5 | 120 128 | 132x 150 160 162 128/ 3| 6 |162] 3| 6] 290 | 3]12
6| x& t&x | &5 115 | 122x | 122x% 152 | 170x | 170x 115 5| 4 |152| 5[ 4] 267 [ 5] 8
7 #mE x| e | 110 | 118x [ 121x | 140 147 | 153x |110/ 6 | 3 |147| 6 | 3| 257 | 6|6
8| Bp HE | Ko 133 () — 171 (&) — 1133/ 1| 8171] 1| 8] 304 | 1]16
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BRIt inE Rz
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™ S Jced| s [cad s Jcad s Jcadl S [cad s Jcad S [cad 5 [cad 5 [cad 7F i
& fif] 8 3313|4677 |513|4)11|4]5|6]5|6]5]|5]| 82 3
1k = 7 8l 71718)22]8|8)7|7]4|1]0|0]2|2]¢4 81 4
£ 5 8 11265341446 |5)3|52[217|5]1]1 66 7
HE Vi 8 20412111111 {112]2016|2)3|3|3[4]3]|3]| 44 8
X o 8 5614|3455 (3|5|6)18|7]4|5]6|8]8]8] 100 2
=) 5 8 6lol112)53|3|6)4|3]7|8)7|7]4|3)6]|6] 81 5
B R B 8 7151871882201 (1]5|318|s8)1|1)2|2( 79 6
S b 8 4185|6766 7]8|8]2|6]6|a4)8]|7)7]| 7| 112 1
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